i
mlo

OFZd
o
RS B,y = = ) a 9 g Fotelet,
Y4
%

M 2, 815 |
> =
> HE: 6

TA=7E A (2, 3)& AL, Dol tisto] A

VTR JHIBR y =S o=2,y=32

HAsHA a = 6 olet.

3.

A, B, C, D, E° #EE 1}
e et

4

H4 2, 55 ]

D A(-2, 0) @B(4, 0)
® C(2, 2) @ D(1, —4)
® E(4, —3)

@ B(0, 4)

o2 A FoAlA y 7t 2 ol ek 2223 270)
(Bl 3, SHA ]

D)y +3x=0 @ y=22+1
(@)yz—i @ zy=10
12
3
®y=--4
x

y 7tz ol et ™, Alo] y = ax 9] FE|o]
ojof gtrt,
DQy+3r=0,y=—-3x

1

@yz—ﬁm




5.

y 7Fx o AulEotl 2 = —2 & o], y = —6 o|th
o 5 &4 42 A2 [HHA 3, oM
Dar=-4dfy=-12

y=ar (a#0)Nr=-2,y=—-6& HYsIHA

—6=—-2a, a=3
Loy =3x

4
@y=4‘?=_”q1x=§

YAl y =3z +1 91 &= f 7F k. o] W, f(2)
of gh2? (W4 3, SHE ]

©)

@® 3 @ 6 @ 9 ®1n

f2)=3x24+1=7

i

A% b o e Fotu?

@ -s

® 0

® -18
@ 18

B

2 —
2y = S o] agjmrt H (—12, b) & AY o,

W1 3, SHA )

® 8

2t
%, g=ap+b 7t JHIL.
. ; « (~12)

webA] b= 8 o|ck.

A(p,q) 7t &5 y = az+b THAZ §]9] oA
z AL p gy Ao ¢ B HYSHH S2]0] AH

7. oe Fy7te o Frtobd A2

2~
Ty

@ AA5 29 52l A y

® A% 2ol Lujel 4y

@9l : A4 2 BT 2 e 3
B

4, 5o B




_ 1 -

5y = 5o o TAZ A F A (a, 2), (-2.0) 9
A1 -1 e BAMoR s A4ge] Hols 7
Shof et 1 3, S
> H

Dg~1=

1
y:§x](a,2) %12=§Xa,'_a:47
1
y=§x°ﬂ (—=2,0) Y : b=
A (4,2), (-2, -1), (4,-1) & HRH LR s

47+ 4501&1{ (=2} x 3=

Egd 9o] Al A4 A6, 0), B(6, 4), C(2, 4) ¢
44 O &2 o]Fo|7 Athe]E OABC 9] HWo|E 5t
S Bl 3, S ]
> £

> Hel 20

B

o}<iH (OA )2 Zo]: 6
=°o] (AB ) 9] Zo]: 4
L §= (6 x4=20

10. thg % Al 4 ARWo] 9l o] HEL?

[ 3, sH ]

@ (_27 0) @ (5’ 4)
@(Sv _4) @ (—1, 6)
® (-3, —3)

(z, y) 7F Al 4 AFZHE HolH >0,y <0
o3, —4) = Al 4 AHER S Holt




